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àíZnÌ hb H$aZo go nhbo H¥$n`m ZrMo {X`o JE {ZX}em| H$mo Ü`mZnyd©H$ n‹T>| :
(1)	 Bg àíZnÌ Ho$ Xmo ^mJ h¢& {Og‘| go ^mJ - I ‘| V¥Vr¶ ^mfm {df` go g§~§{YV 1 go 25 Am¡a ^mJ II ‘| ~w{Õ‘Îmm 

MmMUr {df` go g§~§{YV 26 go 75 àíZ nyN>o JE h¢& g^r 75 àíZ hb H$aZm A{Zdm`© h¡&
(2)	 àË`oH$ àíZ 2 A§H$ Ho$ {bE h¡&
(3)	 àíZnÌ hb H$aZo Ho$ {bE Hw$b 90 {‘ZQ> H$m g‘` {X`m OmEJm&
(4)	 CÎma XoZo Ho$ {bE ñdV§Ì CÎman{ÌH$m Xr OmEJr& àË`oH$ àíZ H«$‘m§H$ Ho$ gm‘Zo Mma {dH$ën Ho$ {bE H«$‘mZwgma XrK©d¥Îm 

{XE JE h¢& {OZ‘| go ghr CÎma - {dH$ën Ho$ XrK©d¥Îm H$mo ZrMo {XE JE CXmhaUmZwgma ^a|& 
	 CXm. àíZ H«$. 6 H$m ghr CÎma {dH$ën H«$. 2 h¡, Vmo AmJo {XE AZwgma CÎma ^a|& 
	 àíZ H«$. 6 			   1 1 3 4
(5)	 ZrMo {X`o JE CXmhaU Ho$ AZwgma A§{H$V {H$E JE CÎma ñdrH$m`© Zht {H$E Om`|Jo& Bg àH$ma A§{H$V {H$E JE àíZ 

Ho$ CÎma H$mo "eyÝ`' A§H$ {XE Om`|Jo& 	1 2 4

(6)	 àíZnÌ ‘| bJ^J 20% àíZ Eogo hm|Jo {OZHo$ 4 CÎma - {dH$ën ‘| go Xmo {dH$ën ghr hm|Jo& do Xmo {dH$ën A§{H$V 
H$aZm A{Zdm`© h¡& {OgHo$ {bE àíZm| Ho$ gm‘Zo H$moð>H$ ‘| "Xmo ghr {dH$ën MwZ|' Eogm {ZX}e {X`m hmoJm&

(7)	 "Xmo ghr {dH$ën MwZ|' Eogo {ZX}e Ho$ A{V[aº$ AÝ` {H$gr ^r àíZ Ho$ {bE EH$ go A{YH$ XrK©d¥Îm H$mo ^aZo `m 
{MÝhm§{H$V H$aZo na Cg CÎma H$mo ñdrH$m`© Zht {H$`m OmEJm&

(8)	 EH$ ~ma A§{H$V {H$E JE CÎma Xmo~mam ~Xbo Zht Om gH$Vo&
(9)	 {dH$ën Ho$ CÎma A§{H$V H$aZo Ho$ {bE Ho$db H$mbo Am¡a Zrbo a§J Ho$ ~m°bnoZ H$m hr BñVo‘mb H$a|& nopÝgb go A§{H$V 

CÎma ñdrH$m`© Zht {H$E Om`|Jo&
(10)	 àíZnÌ Ho$ àË`oH$ n¥ð> Ho$ ZrMo Am¡a A§{V‘ n¥ð> na H$ƒo H$m‘ (Rough work) Ho$ {bE Imbr OJh h¡, dht H$ƒm 

H$m‘ (Rough work) H$a|&
(11)	 narjm H$s Ad{Y ‘`m©{XV hmoZo Ho$ H$maU `{X {H$gr àíZ H$m CÎma AmnH$mo Zht nVm hmo Vmo AmJo Ho$ àíZ hb H$a|& 

A§V ‘| g‘` ~MZo na ah JE àíZm| Ho$ {bE nwZ… à`mg H$a|&
(12)	 {H$gr àíZ ‘| Ìw{Q>/JbVr n[ab{jV hmoZo na n`©dojH$ `m narjm H|$Ð g§MmbH$ go {dMma {d‘e© Zm H$a|& 
(13)	 àíZ ‘| Ìw{Q>/JbVr/BgHo$ g§~§Y ‘| {ZdoXZ {dÚmb` AWdm A{^^mdH$m| Ûmam g‘yh {ejUm{YH$mar ̀ m {ejUA{YH$mar 

Ho$ nmg {bpIV ê$n ‘| Z ^oOH$a g§~§{YV {dÚmb` Ho$ bm°{JZ go Am°ZbmBZ nÕ{V go hr ^oO|& 
(14)	 Ìw{Q>/JbVr/BgHo$ g§~§Y ‘| {ZdoXZ Am°ZbmBZ n{ÕV go ^oOZo H$s Ad{Y narjm n[afX Ho$ {ZX}e ñWmZ go A§V[a‘ 

(AñWm`r) CÎma gyMr Ho$ ào{fV hmoZo go boH$a 10 (Xg) {XZ VH$ ahoJr&
(15)	 Q>§H$U Xmof ̀ m AÝ` H$maU go àíZ JbV n[ab{jV hmoZo na {deofk g{‘{V Ho$ {ZU©`mZwgma ̀ mo½` H$m`©dmhr H$s Om`oJr&
(16)	 ‘yb ‘mÜ`‘ Ho$ gmW A§J«oOr ^mfm ‘| ^r àíZnÌ {X`m J`m h¡& ‘yb ‘mÜ`‘ Ho$ g§{X½Y àíZm| Ho$ {bE A§J«oOr àíZ XoI|&

nona H«$. - II

doi : 01:30 Vo 03:00	 ‘mÜ¶‘ … {hÝXr	

EHy$U JwU : 150	 V¥Vr¶ ^mfm d ~w{Õ‘Îmm MmMUr	 n¥îR> : 32
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SPACE FOR ROUGH WORK

Section - I

English
Q. 01 to Q. 03 Instruction -

Read the passage and answer the questions.
	 The word ‘astronaut’ means a person who travels in space. The soviet 
astronaut Yuri Gagarin was the first person in the world to travel into space, on 
12 April 1961. The first Indian person to go into space is Rakesh Sharma. On 
3 April 1984, Rakesh Sharma rocketed out into space with two other Russian 
astronauts. Rakesh Sharma reported that he could identify India easily from space. 
He could see the blue oceans, green land and snow-capped dazzling Himalayas.
	 That is why when the Prime Minister Indira Gandhi asked him how India 
appeared to him from space, he answered - ‘‘Sare Jahan se Achchha’’ __ the 
best in the world!

01. Choose the correct alternative.
Identify what Rakesh Sharma couldn't see from the space.
(1)	 green land			   (2)	 plains
(3)	 blue oceans			   (4)	 snow-capped Himalayas

02. Choose the correct statement for the following. 
Rakesh Sharma was the first person in the world to travel in space.
(1)	 false	 (2)	 true	 (3)	 not sure	 (4)	 none of these

03. Fill in the blank with correct word.
astronaut : space : : scuba-diver : ?
(1)	 above-water	 (2)	 sub-marine	 (3)	 under-water	 (4)	 across-water

Q. 04 and Q. 05 Instruction -
Read the passage and answer the questions.
	 The elephant is the biggest of all animals on the land. But the biggest of all 
animals lives in the sea. It can be as long as six elephants. It is the blue whale. 
Though it lives in the sea, it is not a fish. It is a mammal. The whale lives in 
water but it breathes air just like us. It has two blow-holes on the top of its head. 
These blow-holes are like its nose. Whales can not smell, they can not see too 
well. But they can hear sounds made by other whales thousands of km. away.
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04. Choose two correct alternatives which are true?
(1)	 The fins are like its nose.	
(2)	 Whale is mammal.
(3)	 Whales can not hear sounds.	
(4)	 They can hear sounds made by other whales thousands of km away.

05. Choose the correct option and fill in the blanks.
Whales can ____ air, they can neither ____ nor ____, but they can ____.
(1)	 hear, breath, see, smell	 (2)	 smell, see, hear, breathe
(3)	 see, breathe, smell, hear	 (4)	 breathe, smell, see, hear

06. Choose the correct alternative..
Surendra Chavan climbed up Mount Everest which rises 8848 meters high 
above sea level. He got praises for his ____
(1)	 expedition	 (2)	 direction	 (3)	 tradition	 (4)	 citation

07. Choose the correct alternative.
Rita likes Pavbhaji, Wada-pav, cake, but her ____ dish is Puri-bhaji.
(1)	 favourite	 (2)	 biggest	 (3)	 tasty	 (4)	 tiny

08. Choose the correct option which does not have prefix.
(1)	 disagree	 (2)	 distant	 (3)	 disappear	 (4)	 dishonest

09. Choose the correct phrase to make meaningful sentence.
The teacher said, ‘‘____ the black board. Write down all the sentences.’’
(1)	 look in	 (2)	 look into	 (3)	 look for	 (4)	 look at

10. Choose two correct alternatives which is related with nature.
S K L M S T
D E J O U R
B T A O V E
P Z A N W E
F L O W X V
N U S H I O

(1)	 MOON	 (2)	 STAR	 (3)	 TREE	 (4)	 BUD
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SPACE FOR ROUGH WORK

11. Choose the correct alternative from the following to complete crossword puzzle.
F
L

S H ? W E R
W

F ? A R
R

(1)	 O, E	 (2)	 U, A	 (3)	 I, G	 (4)	 P, B

12. Choose correct alternative to make meaningful sentence.
a/wanted/royal/maharaja/to/appoint/physician.
(1)	 Royal physician wanted to appoint a Maharaja.
(2)	 Maharaja wanted to appoint a royal physician.
(3)	 Maharaja appointed to want a royal physician.
(4)	 Royal Maharaja wanted to appoint a physician.

13. Complete the sentence using correct form of verb. Choose one correct option.
If you study hard, you ____ pass.
(1)	 are	 (2)	 would	 (3)	 will	 (4)	 should

14. Choose one correct alternative.
You ____ complete your studies then go outside to play.
(1)	 must	 (2)	 may	 (3)	 can	 (4)	 could

15. Read the sentence and recognize its type. Choose the correct alternative.
The doctor said, ‘‘Don't panic.’’
(1)	 Assertive	 (2)	 Exclamatory	 (3)	 Imperative	 (4)	 Interrogative

16. Find out the number of pronouns in the following sentence.
We had a brain storming session. He spoke to us about it.
(1)	 0		 (2)	 3	 (3)	 1	 (4)	 4

17. Pick out the number of adjectives in the following sentence.
The king was angry but he tried to calm himself.
(1)	 1		 (2)	 2	 (3)	 4	 (4)	 3
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18. Choose the correct alternative of passive voice.
The porter opened the door.
(1)	 The door opened the porter.	 (2)	 The door is opened by the porter.
(3)	 The porter was opened the door.	 (4)	 The door was opened by the porter.

19. Choose correct alternative.
The teacher said,
‘‘Look at every
plant, every creeper

(1)	 The teacher told to look at every plant, every creeper.
(2)	 The teacher told that look at every plant, every creeper.
(3)	 The teacher told to looked at every plant, every creeper.
(4)	 The teacher asked if look at every plant, every creeper.

20. Choose one incorrect alternative from the given option.
(1)	 good - better - best		 (2)	 late - later - latest
(3)	 tall - more tall - most tall	 (4)	 thin - thinner - thinnest

21. Choose the correct alternative.
Nitu got first prize in competition.
Her mother said, ‘‘Gr8 work.’’
(1)	 Great	 (2)	 Grit	 (3)	 Grate	 (4)	 Gret

22. Read the mail and choose correct alternative.
The number ‘11’ is related to 
________.
(1)	 date	
(2)	 font size
(3)	 number of mails
(4)	 time
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23. Read the web-site and choose correct alternative.

05-06-2015-World Environment Day

11-06-2015-Sane Guruji Smriti Din

21-06-2015-International Yoga Day

26-06-2015-Social Justice Day

Which days are not mentioned in the web site? Choose two alternatives.
(1)	 Republic Day			   (2)	 Environment Day
(3)	 Independence Day		  (4)	 Social justice Day

24. If the clock shows the time 10 past five. Which watch shows the right time? 
Choose the correct alternative.
(1)	 12

11 1
10 2

9 3

4

57

8

6

		  (2)	 12
11 1

10 2

9 3

4

57

8

6

(3)	 12
11 1

10 2

9 3

4

57

8

6

		  (4)	 12
11 1

10 2

9 3

4

57

8

6
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25. Read the following news and answer the questions by choosing the correct 
option.

	 P. V. Sindhu, Sakshi Malik felicitated by Delhi Government. New Delhi - 
Amidst an auditorium - full of star struck students, fellow atheletes, and family 
members; silver medalist P. V. Sindhu and Sakshi Malik. They were feliciated 
by Delhi Government. They awarded ` 2 crore to Sindhu and ` 1 crore to 
Sakshi, ` 5 Lakh to each coaches Gopichand and Mandeep Singh. Both the 
players were overwhelmed and thanked everyone for the guidance and support 
they received.

Complete the sentence by choosing the correct word.

P. V. Sindhu, Sakshi Malik, Gopichand and Mandeep Singh was awarded by 
_____.

(1)	 Mumbai government		
(2)	 Assam Government
(3)	 Karnataka Government	
(4)	 Delhi Government
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A B C D E F G H I J K L M N O P Q R S T U V W X Y

SECTION - II

INTELLIGENCE TEST

Q.26 to Q.30 Direction :
	 Find the odd term.

26. (1)	 Pumpkin			   (2)	 Tomato	
(3)	 Tulsi			   (4)	 Wheat

27.

	 (1)	 (2)	 (3)	 (4)

28. (1)	 505			   (2)	 336	
(3)	 209			   (4)	 126

29. (1)	 72
25 			   (2)	 75

49 	

(3)	 95
16 			   (4)	 91

64

30. (1)	 JV	 (2)	 AU	 (3)	 RX	 (4)	 QW
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A B C D E F G H I J K L M N O P Q R S T U V W X Y

{d^mJ - II

~w[Õ‘Îmm MmMUr

àíZ 26 go 30 Ho$ {bE gyMZm …
g‘yh ‘| ‘ob Z ImZodmbm nX nhMm{ZE…

26. (1)	 AjV			   (2)	 Aja	
(3)	 emídV			   (4)	 Aj¶

27.

	 (1)	 (2)	 (3)	 (4)

28. (1)	 505			   (2)	 336	
(3)	 209			   (4)	 126

29. (1)	 72
25 			   (2)	 75

49 	

(3)	 95
16 			   (4)	 91

64

30. (1)	 JV	 (2)	 AU	 (3)	 RX	 (4)	 QW
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A B C D E F G H I J K L M N O P Q R S T U V W X Y

Q.31 to Q.34 Direction :
	� In the following series determine the rule and find out the term in place of 

question mark.

31. Question Figure :

½

½ ?½

Answer Figures :

½ ½ ½ ½

	 (1)	 (2)	 (3)	 (4)

32.
53
225 , 43

144 ,  ? , 29
324 , 19

81 , 13
9

(1)	 31
9 	 (2)	 27

196 	 (3)	 39
729 	 (4)	 37

441

33. 1000, 657, 441, 316, ?, 217, 216
(1)	 300	 (2)	 252	 (3)	 267	 (4)	 341

34.
? ? ?

 (1) (2) (3) (4)

	
? ? ?

 (1) (2) (3) (4)	 (1)	 (2)	 (3)	 (4)
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A B C D E F G H I J K L M N O P Q R S T U V W X Y

àíZ 31 go 34 Ho$ {bE gyMZm …
{ZåZ ‘m{bH$m ‘| àíZ {Mh²Z Ho$ ñWmZ na AmZo dmbm nX n¶m©¶ ‘| go Mw{ZE…

31. àíZmH¥$[V

½

½ ?½

CËVaAmH¥$[V

½ ½ ½ ½

	 (1)	 (2)	 (3)	 (4)

32.
53
225 , 43

144 ,  ? , 29
324 , 19

81 , 13
9

(1)	 31
9 	 (2)	 27

196 	 (3)	 39
729 	 (4)	 37

441

33. 1000, 657, 441, 316, ?, 217, 216
(1)	 300	 (2)	 252	 (3)	 267	 (4)	 341

34. ? ? ?

 (1) (2) (3) (4)

	
? ? ?

 (1) (2) (3) (4)	 (1)	 (2)	 (3)	 (4)
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A B C D E F G H I J K L M N O P Q R S T U V W X Y

35. The ratio of the ages of Swara and Meera 5 years before was 3 : 4. Five 
years hence, the ratio of their ages will be 5 : 6. Find Swara’s present age.
(1)	 15 years	 (2)	 25 years	 (3)	 10 years	 (4)	 20 years

36. While conducting the group activities, the group leader used some letters for 
specific instructions. For example - ‘L’ means ‘to read’, ‘M’ means ‘to write’, 
‘V’ means ‘to meditate’. He instructed the students in the following manner. 
How many times he instructed them to meditate?
L M V M L L M V V M L L M V V L M L
(1)	 6 	 (2)	 5	 (3)	 7	 (4)	 8

37. Priya’s mother is Sagar’s mother’s sister-in-law. What is the relation of Priya’s 
father to Sagar’s maternal aunty?
(1)	 Brother			   (2)	 Brother-in-law	
(3)	 Husband			   (4)	 Can’t say

38. In the word ‘CHANDRAYAAN’ which letters are to the right and left side of 
the 3rd last letter? (Find out two correct alternatives) 
(1)	 H			   (2)	 Y	
(3)	 A			   (4)	 N

Q.39 and Q.40 Direction :
	� Find out the rule underlying the arrangement of numbers in the following 

questions and choose the correct alternative that will replace the question mark.

39.

433

3

9 5

8

367

7

2 6

4

179

4

3 1

5

?

6

7 2

9

(1)	 892	 (2)	 576	 (3)	 823	 (4)	 829
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a’$ H$m¶© hoVy ñWmZ

A B C D E F G H I J K L M N O P Q R S T U V W X Y

35. 5 df© nyd© ñdam d ‘ram Ho$ Am¶w H$m AZwnmV 3:4 Wm& ¶{X 5 df© ~mX CZHo$ Am¶w 
H$m AZwnmV 5:6 hmo, Vmo ñdam H$s dV©‘mZ Am¶w {H$VZr?
(1)	 15 df©	 (2)	 25 df©	 (3)	 10 df©	 (4)	 20 df©

36. H$jm ‘| g‘yh H$m¶© H$aVo g‘¶ g‘yh à‘wI Zo Hw$N> Ajam| H$m Cn¶moJ {H$¶m - O¡go 
"b' H$h| Vmo "nµT>mo', "‘' H$h| Vmo "{bImo' Am¡a "d' H$h| Vmo "¶mX' H$amo & Bg àH$ma 
{ZåZ gyMZm Xr JB© hmo Vmo "¶mX' H$aZo H$s gyMZm {H$VZr ~ma Xr JB©?
b ‘ d ‘ b b ‘ d d ‘ b b ‘ d d b ‘ b
(1)	 6 	 (2)	 5	 (3)	 7	 (4)	 8

37. {à¶m§ H$s ‘m± gmJa H$s$ ‘m± H$s ^m^r h¡, Vmo {à¶m Ho$ {nVmOr gmJa Ho$ ‘m¡gr Ho$ 
H$m¡Z h¢?
(1)	 ^mB©			   (2)	 ^DOr
(3)	 n{V			   (4)	 {ZpíMV Zhr H$hm Om gH$Vm

38. "J, n, d§, am, e, a§, V, n' BZ dUm} go EH$ AW© nyU© eãX V¡¶ma H$aZo na Vrgao 
d AmR>d| ñWmZ Ho$ dÊmm} H$mo boH$a V¡¶ma hmoZo dmbo AW©nyU© eãX H$m AW© n¶m©¶ ‘| 
go Mw{ZE& (Xmo ghr CÎma Mw{ZE…)
(1)	 amñVm			   (2)	 BÁOV
(3)	 ~mah df© H$m g‘¶		  (4)	 nX

àíZ 39 VWm 40 Ho$ {bE gyMZm …
g§»¶m {ZYm©aU Ho$ gyÌ H$mo nhMmZH$a àíZ {Mh²Z Ho$ ñWmZ na AmZo dmbm n¶m©¶ Mw{ZE…

39.

433

3

9 5

8

367

7

2 6

4

179

4

3 1

5

?

6

7 2

9

(1)	 892	 (2)	 576	 (3)	 823	 (4)	 829
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A B C D E F G H I J K L M N O P Q R S T U V W X Y

40. If 5 + 3 = 72,  7 – 3 = 20,  4 + 3 = 56 then 9 + 6 = ?
(1)	 15	 (2)	 225	 (3)	 240	 (4)	 12

Q.41 and Q.42 Direction :
	� Identify the correct mirror image of the question figures from the alternatives 

given.

41. Question Figure :                   Answer Figures :

    
	 (1)	 (2)	 (3)	 (4)

42. Question Figure :                   Answer Figures :

     
	 (1)	 (2)	 (3)	 (4)

43. In a hall, the chairs are arranged in a square formation. A girl is sitting at 
the centre place of the square. Three students are sitting to the right and left 
side of the girl in the same row. If all the chairs occupied by the students, 
find the total number of students sitting on the chair.
(1)	 36	 (2)	 49	 (3)	 13	 (4)	 42
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A B C D E F G H I J K L M N O P Q R S T U V W X Y

40. 5 + 3 = 72,  7 – 3 = 20,  4 + 3 = 56 Vmo 9 + 6 = ?
(1)	 15	 (2)	 225	 (3)	 240	 (4)	 12

àíZ 41 VWm 42 Ho$ {bE gyMZm …
àíZmH¥${V H$s Xn©U ‘o {XIm¶r XoZodmbr à{V‘m n¶m©¶m| ‘o§ go Mw{ZE…

41. àíZmH¥$[V				    CËVa AmH¥$[V

    
	 (1)	 (2)	 (3)	 (4)

42. àíZmH¥$[V				    CËVa AmH¥$[V

     
	 (1)	 (2)	 (3)	 (4)

43. EH$ g^mJ¥h ‘| dJm©H¥${V ‘| Hw${g©¶m± bJr h¡& EH$ bµS>H$s g^mJ¥h Ho$ ‘Ü¶^mJ ‘| bJr 
Hw$gu na ~¡R>r h¡& Cgr H$Vma ‘| CgHo$ ~mB© d XmB© Amoa 3-3 ~ƒo ~¡R>o h¡& g^mJ¥h 
H$s g^r Hw${g©¶m| na ~ƒo ~¡R>o hmo, Vmo Cg g^mJ¥h ‘o Hw${g©¶m| na Hw$b {H$VZo ~ƒo 
~¡R>o h¢?

(1)	 36	 (2)	 49	 (3)	 13	 (4)	 42
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44. ‘He made efforts to keep abreast but it was no use.’ Which of the following 
alternatives has the similar meaning to the words in the given sentence.  
(Select two correct alternatives)
(1)	 rubbish			   (2)	 affects	
(3)	 in vain			   (4)	 to try hard

45. In the adjacent figure Akshay is standing at ‘A’ facing sun-set. By the time 
he reached the place ‘B’. How many times his back faced south?

A

B

(1)	 3
(2)	 4
(3)	 6
(4)	 5

46. Choose the author of the book ‘King Lear’ from the given alternatives.
(1)	 Rudyard Kipling		  (2)	 Wordsworth
(3)	 R. S. Stevenson		  (4)	 Shakespeare

47. Rajanikant was born on Tuesday, 29th February 2000. On which day will he 
celebrate his second birthday?
(1)	 Wednesday	 (2)	 Thursday	 (3)	 Friday	 (4)	 Tuesday

Q.48 to Q.52 Direction :
	� In each of the following questions relation between 3rd and 4th term is the 

same as that between the first and the second term. Find the term to replace 
the question mark.

48. Primary occupation : Cattle rearing  : :  Secondary occupation : ?
(Select two correct alternatives)
(1)	 Tourism			   (2)	 Cotton textile industry
(3)	 Credit - Co - Op - Societies	 (4)	 Iron and steel industry
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44. "ñd¶§ H$mo ~hþlwV g‘PZo dmbo ZmZm {H$ {~Z {ga n¡a H$s ~mVm| H$mo gwZH$a {ga XþIZo 
bJm' Bg dm³¶ ‘o§ {H$g eãX g‘yh Ho$ {bE eãX Am¶m h¡? (Xmo ghr n¶m©¶ MwZ§o)
(1)	 nm¡am{UH$ H$Wm&			   (2)	 {d{^ÝZ dof ~ZmZo dmbm&
(3)	 {ZaW©H$ Jßnm&			   (4)	 {Ogo ~hþV OmZH$mar hmo&

45. ZrMo Xr J¶r AmH¥${V ‘| "A' ñWmZ na IµµS>o Aj¶ H$mo gm‘Zo gy¶m©ñV hmoVm {XImB© 
{X¶m Vmo, "B' ñWmZ na nhþ±MZo VH$ {H$VZr ~ma CgH$s nrR> X{jU H$s Amoa hmoJr?

A

B

(1)	 3
(2)	 4
(3)	 6
(4)	 5

46. "Z g d ‘m amo a' BZ Ajam| go V¡¶ma hmoZo dmbo AW© nyU© eãX Ho$ Zm‘ H$m H$hmZr 
g§J«h {H$gZo {bIm h¡?
(1)	 VwbgrXmg			   (2)	 ‘hmXodr d‘m©
(3)	 O¶e§H$a àgmX			   (4)	 ào‘M§X

47. aOZrH$m§V H$m OÝ‘ 29 ’$adar 2000, ‘§Jbdma H$mo hþAm, Vmo CgHo$ Xÿgao OÝ‘ {XZ 
na H$m¡Z-gm {XZ hmoJm?
(1)	 ~wYdma	 (2)	 Jwê$dma	 (3)	 ewH«$dma	 (4)	 ‘§Jbdma

àíZ 48 go 52 Ho$ {bE gyMZm …
nhbo Xmo nXm| Ho$ g§~§Y H$mo Ü¶mZ ‘| aIH$a àíZ {Mh²Z Ho$ ñWmZ na AmZo dmbm 
n¶m©¶ Mw{ZE…

48. àmW{‘H$ ì¶dgm¶ … newnmbZ …… X²[dVr¶H$ ì¶dgm¶ … ? (Xmo n¶m©¶ Mw{ZE)
(1)	 n¶©Q>Z&			   (2)	 gyVr H$nµS>m CX²¶moJ&
(3)	 Ob g§dY©Z&			   (4)	 bm¡h {Z{‘©{V&
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49. Cricket : Pitch  : :  Wrestling : ?
(1)	 Rink	 (2)	 Wrestler	 (3)	 None of these	 (4)	 Arena

50. 34 : 91  : :  27 : ? . (Select two correct alternatives)
(1)	 351	 (2)	 315	 (3)	 347	 (4)	 117

51. WVU : N  : :  TSR : ?
(1)	 F 	 (2)	 H	 (3)	 C	 (4)	 E

52. Question Figure :

??
Answer Figures :

	 (1)	 (2)	 (3)	 (4)

Q.53 and Q.54 Direction :
	� In the adjacent figure, the number of boys who are the fans of different teams 

is shown. Observe the venn diagram and answer the questions that follow :

5

7

5

7
4

11

89
2

6

Dabang Delhi

U Mumba

Puneri Paltan
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49. ZH$br g§Ý¶mgr … T>mo§Jr ‘Zwî¶ …… bmoho Ho$ MZo … ?
(1)	 PyR>mg‘mMma	 (2)	 AYyamkmZ	 (3)	 ZH$mamË‘H$ CËVa (4)	 A{V H$îQ>

50. 34 : 91  : :  27 : ?  (Xmo n¶m©¶ Mw{ZE)

(1)	 351	 (2)	 315	 (3)	 347	 (4)	 117

51. WVU : N  : :  TSR : ?
(1)	 F 	 (2)	 H	 (3)	 C	 (4)	 E

52. àíZmH¥${V

??
CËVa AmH¥${V¶m±

	 (1)	 (2)	 (3)	 (4)

àíZ 53 VWm 54 Ho$ {bE gyMZm …
g§b½Z doZ AmH¥${V ‘| {X¶o J¶o Xbm| H$m Iob ng§X H$aZo dmbo ~ƒm| H$s g§»¶m {XImB© 
JB© h¡& CgH$m {ZarjU H$a Ho$ {ZåZàíZ hb H$s{OE…  

5

7

5

7
4

11

89
2

6

X~§J {Xëbr

¶y ‘w§~m
nyZm H$s nbQ>Z
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53. How many boys are the fans of only two teams?
(1)	 26	 (2)	 5	 (3)	 15	 (4)	 21

54. How many boys are the fans of only one team?
(1)	 38	 (2)	 36	 (3)	 94	 (4)	 59

55. Observe the numbers given in the following square and choose the correct 
alternative to replace the questions mark.

7 8 13

4 5 ?

9 12 15

(1)	 8
(2)	 9
(3)	 7
(4)	 6

56. In the following number series find the odd term.
6, 3, 32, 59, 130, 211, 342.
(1)	 6 	 (2)	 342	 (3)	 32	 (4)	 130

57. In the following table symbols are used for numbers. (Select two correct 
alternatives)

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)

Numbers
Symbols

then
4 ' 34

:` `j j8 B× ?3
Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)

 

(1)		

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
			   (2)	

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
	

(3)		

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
			   (4)	

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
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53. Ho$db Xmo Xbm| H$mo ng§X H$aZo dmbo Hw$b {H$VZo ~ƒo h¡?
(1)	 26	 (2)	 5	 (3)	 15	 (4)	 21

54. Ho$db EH$ Xb H$mo ng§X H$aZo dmbo ~ƒm| H$s Hw$b g§»¶m {H$VZr?
(1)	 38	 (2)	 36	 (3)	 94	 (4)	 59

55. {X¶o J¶o Mm¡IQ> ‘| àíZ {Mh²Z Ho$ ñWmZ na AmZo dmbm n¶m©¶ Mw{ZE…

7 8 13

4 5 ?

9 12 15

(1)	 8
(2)	 9
(3)	 7
(4)	 6

56. ZrMo Xr J¶r ‘m{bH$m ‘| JbV nX nhMm{ZE…
6, 3, 32, 59, 130, 211, 342
(1)	 6 	 (2)	 342	 (3)	 32	 (4)	 130

57. ZrMo {XE JE àíZ ‘o§ A§H$mo Ho$ ñWmZ na AmH¥${V¶m| H$m Cn¶moJ {H$¶m J¶m h¡&

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)

A§H$
AmH¥${V

Bg AmYma na

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)

 (Xmo ghr n¶m©¶ Mw{ZE&)

(1)		

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
			   (2)	

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
	

(3)		

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
			   (4)	

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)



0322-Hindi Set-A    	  22 of 32	  Contd...

SPACE FOR ROUGH WORK

A B C D E F G H I J K L M N O P Q R S T U V W X Y

Q.58 and Q.59 Direction :

58. In a certain code language SUN is replaced by VXQ, TON is replaced by 
WRQ, then VEX will replace which word?

(1)	 SBU			   (2)	 WDA	

(3)	 LGB			   (4)	 PKF

59. Which of the following alternative gives the word which is opposite of ‘YES’?

(1)	 VQ			   (2)	 QR	

(3)	 WR			   (4)	 WQ

60. Identify the water reflection of the question figure from the given alternatives.
Question Figure :                   Answer Figures :

       
	 (1)	 (2)	 (3)	 (4)
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àíZ 58 VWm 59 Ho$ {bE gyMZm …
{H$gr gm§Ho${VH$ ^mfm ‘o§ "ngmam' eãX H$mo "NML' , "amKd' eãX H$mo "PON' VWm 
"gmdY' eãX H$mo "QPM' {bIVo h¡& Bg‘o§ qhXr Ajam| H$m H«$‘ A§J«oOr Ho$ Ajamo 
Ho$ H«$‘ ~am~a hmo, Eogm Zhr h¡& Bg OmZH$mar Ho$ AmYma na {ZåZ àíZ hb H$s{OE&

58. Bg gm§Ho${VH$ ^mfm ‘| "Kgmam' eãX H¡$go {bIm Om¶oJm?
(1)	 OMN			   (2)	 QMN	
(3)	 MPQ			   (4)	 MPN

59. Bg gm§Ho${VH$ ^mfm ‘| a§H$ eãX H$m {déX²YmWu eãX {H$Z n¶m©¶ Ho$ Ajamo go V¡¶ma 
hmoJm?
(1)	 MP			   (2)	 NP	
(3)	 MN			   (4)	 NQ

60. {ZåZ àíZAmH¥${V H$s Ob à{Vq~~ dmbr AmH¥${V n¶m©¶ ‘| go Mw{ZE…

àíZmH¥${V                   		  CËVa AmH¥${V¶m±

       
	 (1)	 (2)	 (3)	 (4)



0322-Hindi Set-A    	  24 of 32	  Contd...

SPACE FOR ROUGH WORK

A B C D E F G H I J K L M N O P Q R S T U V W X Y

Q.61 and Q.62 Direction :
	 Observe the following figure.

61. All the outer surfaces of the given figure are painted with the same colour. 
How many cubes will have three faces painted?
(1)	 16	 (2)	 14	 (3)	 20	 (4)	 12

62. In the given figure find the maximum number of cubes that are arranged one 
above the other?
(1)	 216	 (2)	 208	 (3)	 200	 (4)	 192

Q.63 to Q.65 Direction :
	� Identify the rhythmic arrangement of terms given below and find the correct 

term in place of the question mark.

63. U W ? M V U V M ? N U N W ? ? U M V N W
(1)	 N U M V	 (2)	 N V W M	 (3)	 N W V M	 (4)	 W M V M
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àíZ 61 VWm 62 Ho$ {bE gyMZm …
{ZåZ AmH¥${V H$m {ZarjU H$amo&

61. Cna Xr JB© KZmH¥${V JwQ>H$m| H$s aMZm H$s ~mhar ^mJ go EH$ hr a§J go a§JrZ {H$¶m 
J¶m h¡& Vmo {H$VZo JwQ>H$mo§ Ho$ VrZ n¥îR>^mJ a§J| J¶o h¡&
(1)	 16	 (2)	 14	 (3)	 20	 (4)	 12

62. Cna Xr JB© AmH¥${V ‘| g‘mZ AmH$ma Ho$ A{YH$ go A{YH$ {H$VZo KZ EH$ Xÿgao Ho$ 
Cna aIo J¶o h¢?
(1)	 216	 (2)	 208	 (3)	 200	 (4)	 192

àíZ 63 go 65 Ho$ {bE gyMZm …
{X¶o J¶o b¶~X²Y aMZm Ho$ nXm| Ho$ H«$‘ H$mo Ü¶mZ ‘| aIH$a àíZ {Mh²Z Ho$ ñWmZ na 
AmZo dmbm nX n¶m©¶ ‘| go Mw{ZE…

63. U W ? M V U V M ? N U N W ? ? U M V N W
(1)	 N U M V	 (2)	 N V W M	 (3)	 N W V M	 (4)	 W M V M
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64.
???

(1)	 ?????????	 (2)	 ??? ??????	 (3)	 ?????????	 (4)	 ?????????
65. 3 6 9 7 1 2 2 3 1 6 9 7 7 2 9 3 6 1 1 7 ? ? ? 9

(1)	 3 2 6	 (2)	 6 2 3	 (3)	 6 7 3	 (4)	 3 6 2

66. A square sheet of paper folded and cut as shown in the question figure. How 
will the figure look like when the paper is unfolded. Choose the correct option.
Question Figure :                   Answer Figures :

          
	 (1)	 (2)	 (3)	 (4)

67. Find the hidden part of the question figure from the alternatives given.
Question Figure :                   Answer Figures :

     
	 (1)	 (2)	 (3)	 (4)
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64. ???
(1)	 ?????????	 (2)	 ??? ??????	 (3)	 ?????????	 (4)	 ?????????

65. 3 6 9 7 1 2 2 3 1 6 9 7 7 2 9 3 6 1 1 7 ? ? ? 9
(1)	 3 2 6	 (2)	 6 2 3	 (3)	 6 7 3	 (4)	 3 6 2

66. àíZmH¥${V Ho$ H$mJO H$mo ‘moµS>H$a N>m¶m§{H$V ^mJ na H$mQ>m Am¡a Imobm, Vmo àmá AmH$ma 
n¶m©¶ Ho$ {H$g AmH¥${V H$s Vah {XImB© XoJm?

àíZmH¥${V                   	 CËVa AmH¥${V¶m±

          
	 (1)	 (2)	 (3)	 (4)

67. Xr JB© AmH¥${V ‘| Nw>no hþE ^mJ H$mo n¶m©¶ ‘| go Mw{ZE…

àíZmH¥${V                   	 CËVa AmH¥${V¶m±

     
	 (1)	 (2)	 (3)	 (4)
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Q.68 to Q.70 Direction :
	� Observe the following pyramid and the sequence of the terms given in the 

questions that follow. Choose the correct term from the alternatives given that 
will replace the question mark. (Select two correct alternatives.)

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

68.

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

  8 
A       1

       B       2
       3       C       9

D       4              E       5
7       G       ↓       6       F       ↑

X       H       8       T       I       9       

 : 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

  I 2 : : A ↓ 7  : ? 
(1)	 1 C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 2			   (2)	 1 6 ↑ 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

(3)	 2 I 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9        ↑			   (4)	 A ↓ F C

69.  3 4 G 6 C : 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 C E F ↓ 3  : : D 4 G H  

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
 : ?

(1)	 5 F E 9  

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
 4		  (2)	 5 E F 9 I  

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)(3)	 5 F E 9  

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
			   (4)	 5 E I  8 ↓ 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
70. A G B 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 8 : 
A       1

       B       2
       3       C       9

D       4              E       5
7       G       ↓       6       F       ↑

X       H       8       T       I       9       

 H 3  : : ? : 2 9 C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

(1)	 1 9 B 2 I			   (2)	 1 F C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 I
(3)	 1 F B 2 I			   (4)	 1 E B 2 I

71. One is added to the position of serial number of each letter in the alphabet 
series. Find the sum of the serial numbers of the word which is opposite to 
the word ‘EAST’? choose the correct option.
(1)	 71	 (2)	 63	 (3)	 66	 (4)	 73
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a’$ H$m¶© hoVy ñWmZ

àíZ 68 go 70 Ho$ {bE gyMZm …
{ZåZ{b{IV {na°{‘S> H$m {ZarjU H$amo& àíZ Ho$ nXm| ‘o§ AmZo dmbo A§H$, Aja, {Mh²Z 
H$m H«$‘ Ü¶mZ ‘| aIH$a àíZ{Mh²Z Ho$ ñWmZ na AmZodmbm nX nhMm{ZE… (Xmo ghr 
n¶m©¶ Mw{ZE…) 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

68.
A       1

       B       2
       3       C       9

D       4              E       5
7       G       ↓       6       F       ↑

X       H       8       T       I       9       

  8 
A       1

       B       2
       3       C       9

D       4              E       5
7       G       ↓       6       F       ↑

X       H       8       T       I       9       

 : 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

  I 2 : : A ↓ 7  : ? 
(1)	 1 C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 2			   (2)	 1 6 ↑ 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

(3)	 2 I 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9        ↑			   (4)	 A ↓ F C

69.  3 4 G 6 C : 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 C E F ↓ 3  : : D 4 G H  

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
 : ?

(1)	 5 F E 9  

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
 4		  (2)	 5 E F 9 I  

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)(3)	 5 F E 9  

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
			   (4)	 5 E I  8 ↓ 

4 ' 34
:` `j j8 B× ?3

Z )+ =a k

×3 4 ) 3+ 4'4 3 3-

2 3 4 5 6 7 8 9 10 11 12
4 3 5×3 4 4 Z + 3 3- :

 (1) (2) (3) (4)
70. A G B 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 8 : 
A       1

       B       2
       3       C       9

D       4              E       5
7       G       ↓       6       F       ↑

X       H       8       T       I       9       

 H 3  : : ? : 2 9 C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

(1)	 1 9 B 2 I			   (2)	 1 F C 

A       1
       B       2

       3       C       9
D       4              E       5

7       G       ↓       6       F       ↑
X       H       8       T       I       9       

 I
(3)	 1 F B 2 I			   (4)	 1 E B 2 I

71. A§J«oOr Aja‘mbm Ho$ àË¶oH$ Ajam| H$mo CZHo$ àma§{^H$ AZwH«$‘m§H$ H$mo EH$ go ~‹T>m {X¶m 
J¶m Vmo, "EAST' eãX H$m {déX²YmWu eãX Ho$ Ajam| Ho$ AZwH«$‘m§H$m| H$m ¶moJ’$b 
{H$VZm hmoJm?
(1)	 71	 (2)	 63	 (3)	 66	 (4)	 73
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SPACE FOR ROUGH WORK

A B C D E F G H I J K L M N O P Q R S T U V W X Y

72. In the following series determine the rule underlying the series and find out 
the term in place of the question mark.
Y, A, V, D, ?, I, J, P, A, Y
(1)	 I 	 (2)	 D	 (3)	 Q	 (4)	 P

73. Choose the correct alternative to complete the question figure.
Question Figure :                   Answer Figures :

     
	 (1)	 (2)	 (3)	 (4)

Q.74 and Q.75 Direction :
	� Choose the correct figure from the alternatives given that exactly matches with 

the question figure.

74. Question Figure :                   Answer Figures :

       
	 (1)	 (2)	 (3)	 (4)

75. Question Figure :                   Answer Figures :

     
	 (1)	 (2)	 (3)	 (4)
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a’$ H$m¶© hoVy ñWmZ

A B C D E F G H I J K L M N O P Q R S T U V W X Y

72. {ZåZ ‘m{bH$m ‘| àíZ {Mh²Z Ho$ ñWmZ na AmZodmbm nX n¶m©¶ ‘| go Mw{ZE…
Y, A, V, D, ?, I, J, P, A, Y
(1)	 I 	 (2)	 D	 (3)	 Q	 (4)	 P

73. {X¶o J¶o àíZmH¥${V H$mo nyU© H$aZo Ho$ {bE C{MV n¶m©¶ Mw{ZE…

àíZmH¥${V                   	 CËVa AmH¥${V¶m±

     
	 (1)	 (2)	 (3)	 (4)

àíZ 74 d 75 Ho$ {bE gyMZm …
àíZmH¥${V go hÿ-~-hÿ {‘bZodmbr AmH¥${V n¶m©¶ ‘| go Mw{ZE…

74. àíZmH¥${V                   	 CËVa AmH¥${V¶m±

       
	 (1)	 (2)	 (3)	 (4)

75. àíZmH¥${V                   	 CËVa AmH¥${V¶m±

    
	 (1)	 (2)	 (3)	 (4)
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